S TR N | 45 R

ﬁm‘**ﬁaﬁvwwrmﬁﬁqugs:

HA- 1907 ¥ S At arfirers = seawn w9 e W X # oh

T P A wiirg @ e (e ok o T ) § R €

HAA-IIT . 1916ﬁ3ﬁ$afuamﬁm%€rﬁawd°ﬁaﬁzwﬁgﬁmwa
T ¥ Sfdem #t srmam o, fomer 3 #

(A) weF-1, 11, 111 99t weEt ¥

(B) =eH-1, II, 111 9%t TTorq g
(C) -1, Il W& ¥ forg we-111 o &

(D) F2[A-1, 11 Toa € frg wom-111 v &

Choose the correct option after reading following statements :

Statement-I : In 1907, Congress’s Annual Session was presided by Rash Behari

Ghosh

Statement-II : In this session, Congress got divided into two groups (Moderates

and Extremists)

Statement-III : In Congress’s Annual Session of 1916, two groups (Moderates and

Extremists) got united. This session was presided by S. P. Sinha

(A) Statement-I, II and III all are true
(B) Statement-I, II and III all are false

(C) Statement-I, II are true but Statement-III is false

(D) Statement-I, II are false but Statement-III is true
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2. 79 F99 # vgw wd) fawen & A B

aishl 7 TNy

. v
FHA-1 : ofEs Rt soE w0 gem wER 1871 | R T

FEI ;T 1881 F qwera SR O i o a9 R
FAT-MUL : 1900 F 1940 F A9 40 el & AR Tl oA @ AR H

10% & STt 18% & T

(A) F¥F-1, 11, UI usft ©et &
(B) ¥ ®y-1 we ¥

(C) waa Fe-11 W&t &

(D) %ot Fua-1I1 98 &

Read the following statements and choose the correct option :
Statement-I  : First All India Census was attempted in 1871
Statement-II : From 1881 onwards decennial censuses became a regular feature

Statement-III : In forty years from 1900 to 1940, urban population increased

from 10% of total population to 18%
(A) Statement-I, II, III all are true
(B) Only Statement-I is true
(C) Only Statement-II 1s true

(D) Only Statement-III is true
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T TFIST MM, 1953 ¥ wd o firmy ol W Forem w3 go W faen T
FE-1 : SRE woE o, ¥ wn, v ot gaA Hoe T weE 4
FIA-I1 3 3 g ok v ¥ faweE 1 ogudE R

oI dae
I : 9952 ¥y 7= qoife &, 1956 ¥ TET 14 T TUT 6 H= A &§F T
L

SRR ¥} I/} o v ¥
(A) 1, TR

(B) 13RI

(C) a1

(D) 1R

Read the following statements with reference to State Reorganization Commission,

1953 and choose the correct option :

Statement-1  : Justice Fazl Ali, K. M. Panikkar and Hridaynath Kunzru were its
member

Statement-II : Commission supported the splitting of Bombay and Punjab

Statement-III : As per State Reorganization Act, 1956 passed by Parliament,

14 States and 6 centrally administered States were made
From the statements given above, which is/are true?
(A) L IT and III
(B) IandII
(C) OnlyI

(D) I and III
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4.

; § FA-E/EA-N gy
WWW% L
YRe ¥ Yd gea A

et /8?2
T A el g e o e @ A g

FYA-I : 3 o9 q% GaQ el sty o e
BUA-IT : w72 forgfr o often Yg@ & 1 o
SHRIE §  $H-w/aH-9 wu we E?

(A) L 11 sk 111

(B) 18k

©) 1R

(D) =@ 11

: : i dia,
Which of the following statements is/are true about previous Chief Justice of In

Yashwant Vishnu Chandrachud?
Statement-I : He was 16th Chief Justice of India

Statement-IT : Till date, he is the longest serving Chief Justice of India
Statement-III : He was appointed by Neelam Sanjiva Reddy

From the statements given above, which is/are true?

(A) L II and III

(B) Iand II

(C) 1 and III

(D) Only II

wﬂimqaﬁm55ﬁm%ma%r$a=mmmwa%fﬁ?

(A) T T (B) . T

(C) T Foerd YT (D) #7a TREw fifg
Who was the Chief Justice of India for the shortest duration?

(A) Rajendra Mal Lodha (B) S. Rajendra Baby
(C) Gopal Ballav Pattanajk (D) Kamal Narain Singh
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Mé‘dﬁuﬁﬁ?ﬁmﬂxmﬁwmwﬁ%?
(A) T® ST w9 wien (1977-79) T & 7@ o1
(B) ¥9F T&W 423 wfeum wvvys § wzem fem

(© T W % g weeh wm o gsRy ot ke
F B v 1 w5 o “memmmw

U”iwm%mmmmﬁmmﬁmwmmﬁﬁM%mmu
i TFE R 9w 7 W% uge v}

What is not true about the 44th Constitutional Amendment?

(A) This amendment was brought in by Janata Government (1977-79)

(B) With this constitutional amendment, changes in 42nd Constitutional Amendment
was made

(C) Through this amendment first time it was made clear in Constitution that
President cannot act against the advice of Council of Ministers

(D) As per this amendment President can return the advice of Council of Ministers
for reconsideration as many times as he want till he is satisfied

afe fe=l wroll | wRa ¥ wgafs w srqefeafa F swrgefa ool v F w5 w5 Fewe
F@ 2, @ IQ oY F wEy § IN-T/HH-¥ wyT qg T/E?
(/) ¥W yafy ¥ Iwrgylfd 59 W & gunfa &1 @

Lii) 7@ afy & fau Iwusgafa i asgafa &1 a9 e

(i) afz @ arafy § Iwregufa @nme 2 3 ¥, @ 9Ra F geR Ay et % 9e

=1 fdes &0

AA) (i), (i) ST (i) ~ (B) (i) 3 (if)

J(C) (i) 3 (iii) (D) ad (i)
If Vice-President of India has to discharge the duties of President of India in his
absence due to some reasons, then what is/are true for such duration?

In this duration, Vice-President holds the post of Chairman of Council of

States
(ii) In this duration, Vice-President will get the emolument of President

(i)

(iiiy If in this duration, Vice-President resigns, then Chief Justice of India will perform
the duties of President of India

(A) (i), (ii) and (iii) (B) (i) and (i)

(C) (i) and (iii) (D) Only (i)

(7] CQRP- 1
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-/ T e

A Wﬁﬁwwuﬁwﬁm,ﬁﬁﬂﬁmﬁmvﬁmmﬂ U §
forg = & ' .

) W%ﬂﬁmﬁﬁmmwmmﬁr#{mumaﬁawmﬁmm%

(i) W ¥ forn S T b g v @ gw-gaa (U6th) T ()

R T2
(A) (), Gi) 3R (iii) (B) (i) 3R (i)
(©) () 3R (iii) (D) 38 @ H1§ Tl

Which of the following statements is/are true in reference to the joint sitting of
Parliament for passage of bill?
(i) Provision for joint sitting is applicable for ordinary bills, financial bills and

constitutional amendment bills

(7)) In no situation, Deputy Chairman of Rajya Sabha can preside over the joint

sitting
(#ii) Quorum of 1/6th of the total number of members of both Houses to

be maintained for joint sitting

(A) (), (i) and (i) B) (i) and (ii)
(C) (i) and (iii) (D) None of these

9. e Qg T { iu 1 o WIR W STyfad S % fow e ¥ )
(A) I T (B) sifewm
(C) FES (D) =& wew
From which of the following States, maximum number of seats are reserved for
Scheduled Tribes in Lok Sabha?
(A) Uttar Pradesh (B) Odisha
(C) Jharkhand (D) Madhya Pradesh

v 8] CQRP - 1
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11.

-urisdiction of Lok
Which of the following Committees does not come under the )

Sabha?
A) Committee On Social Justice and Empowerment

(B) Committee on Urban Development

© Committee on Labour

(D) Committee on Health and Family Welfare

R daed S E (IPG) & g=ed # Fa-gyHE-§ B gt ¥E?

() T@ TH T g & €

(if) m%t@wﬁwmm%

(i) S T T e S STETAra T 3 @ (ex-officio) ST B
g

@A) (), i) I (i) B) (i) I (D)

(©) Fa4 (i) (D) e (iid)

In reference to Indian Parliamentary Group, which of the following statements

is/are true?

() It is not an autonomous body
’ \

(ii) Former Members of Parliament can become its member

(iif) Deputy Speaker of Lok Sabha and Deputy Chairman of Rajya Sabha are its
ex-officio Vice-Presidents

(A) (i), (ii) and (iii) (B) (i) and (ii)

(C) Only (i) (D) Only (iii)

(9] CQRP -



2t :
12. 71 %= wita waw a1 o o & ad & @ W P

= il wiwr R ot w1
(@) ey (i) 1961
(b) = ok & (i) 1966
(c) ENUS (#ii) 1962

(@) <=T ok WR w3 (iv) 1956

@ ® © @
@ O G Gy @
® W @) @ 0]
YO oy
© O @ @

Match the following Union Territories with their years of creation :

Union Territories Years of Creation

(a) Lakshadweep

() 1961
(6) Daman and Diy (i) 1966
(¢) Chandigarh (i) 1962
(d) Dadra and Nagar Haveli (iv) 1956
@ ® © @
A O G G ()
B) v i) (id) ()
© m @ Gy
(60) R () I (/7)) (i) (iv)
oy
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13. @Ed fSen & "o § wH-w/ae-9 wed 2/% 2

() W% wWEa fen wiwe § 30 9w a1 §

(i) wrEa fSen wieg ¥ 24 GE@ HagH % g A 9N § a9 A9 6 ToHY G HAAI
B

(i) WU ¥ @Y foe § wrdig dug g wia S e fRfm s # AR
THUE % I}

(A) (), (i) 3R (i)

(B) (i) ¥R (iii)

©) () ¥R (i)

(D) e (3)

What is/are true in relation to Autonomous Districts?

(/) Each Autonomous District Council has 30 members

(i) 24 members of Autonomous District Council are elected via voting and rest 6 are

nominated by Governor

(iii) Rights to direct the Acts passed by Parliament of India in Autonomous Districts
.of Assam lies with Governor

(A) (9), (ii) and (iii)

(B) (i) and (iii)

(©) (i) and (i)

(D) Only (i)
A ' [11] CQRP- 1
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18.

foa s & w=f 4 F-m/FR-S T VE?
()  omEm A pa 5 geE B9 §

SIS BT =R
(i) ST § w70 wF G T HE A G B A

- i) SR ey g Frgea T@ R S gl
AWV) I ¥y sreney ¥, geaEw 9

A) ), (i) 3R (iv) B) (), (i) R (iii)
© ) 3k i) (D) aa (i)

What is/are true in reference to the Finance Commission?

()  There are total 5 members in Commission

(i) At least one member of Commission mu

st be Judge of High Court or Supreme
Court

(iii)

(iv) First Chairman of Commission was K. Santhanam
(A) (), (i) and ()
(©) () and (iii)

The Chairman of Commission cannot be reappointed

(B) (@), (if) and (iis)
(D) Only (3

= & ¥ g 9 & W 2

) I3 TR - g

B) I=t wd - =i

(©) el iR Yo -y

(D) mqm#m—nﬁwﬂa,ﬁwm

Which of the following is net the correct match?
(A) Central Railway - Mumba;

(B) Western Railway - Churchgate )(
(C) North Frontier Railway - Prayagraj

(D) South Eastern Railway - Garden Reach, Kolkata

B - EIRLN
[12]
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16. AfEFE—2020 ¥ ey ¥ B-w/HE-d T YE?
() Y@ 9§ 121 faenfedt ¥ shmfma—2020 § feemn feman
(i) WG ¥ FR A oareiwd wO et wfeen foenfed @ den gev fawted d
' el ot
(iii) WRE ¥ FA 18 @el F Wy o
(A) (), (i) 3R (iid) (B) (i) 3 (iii)
© () *R i) (D) =4 ()
In relation to Olympics—2020, what is/are correct?
() From India 121 players participated in Olympics—2020
(ii) From India number of female players qualified in wrestling was more than male
players
(i) India participated in total 18 sports
(A) (@), (i) and (i) (B) () and (i)
(© () and (i) (D) Only ()

17. ﬁw%ﬁv@ﬁaﬁﬁmmaﬁ%ﬁaﬁwmﬁwﬁ(@wﬁm%
g, 9% W9 UEd QW) ¢
(A) %9 A, faseed, 4. 3=, sifefeas anuH
(B) fawreres, %= 39, 4 W A, sefaaa oA
(C) fa=eed, 3iE, Y oA, Siefeam A
(D) a@maﬂhﬁﬁaﬁﬁwmv{@aﬁﬂq

Arrange the following Tennis Tournaments in chronological order of their starting
years (one which started earliest, will come first) :

(A) French Open, Wimbledon, US Open, Australian Open

(B) Wimbledon, French Open, US Open, Australian Open

(C) Wimbledon, US Open, French Open, Australian Open

(D) Australian Open, French Open, Wimbledon, US Open

A [13] CQRP- 1



18. GNUaﬁn%ﬁnfaw%WﬁW“ﬂ"ﬁ%?
(A) TE T wH ‘GNU’s Not Unix’ 2
(B) o yeam feaé T 1 #t A
(C) & T A WY FwRaR 2
(D) ¥ Unix ¥ W Hdfesa T ¢
What is not true about GNU operating system?
(A) Its full form is ‘GNU’s Not Unix’
(B) It was started by Richard Stallman

(C) It’s an open source software

(D) It is not compatible with Unix

19. feiegrs femmt oifw wfdq (DDoS) 3ié% & § 7

(A) T FHX T (B) TH W 31eH
(C) = fuferdt et fawew (D) T ¥ i 7
What is Distributed Denial of Service (DDoS) attack?

(A) A computer game (B) A cyber attack
(C) A millitary attack system (D) None of these

20. NavIC # d & ¢ :
(A) AR faeRe s=ewd
(B) Afaim fag sfea wieiorm
(C) -fgirem fag sfea =i
(D) Ao fag 3o wismawm

Full form of NavIC is :
(A) Navigation without International Control

(B) Navigation with Indian Constellation
(C) Navigation with Indian Coastal
(D) Navigation with Indian Cooperation

[14] CQRP- 1




What is not true about FM (Frequency Modulation) radio waves?

(A) Frequency range of Frequency Modulation is lower than that of Amplitude
Modulation

(B) Amplitude and phase do not change in it
(C) It was invented by Edwin Armstrong
(D) Its bandwidth is higher than that of Amplitude Modulation

TRIAH-2 I F Ty § T g T 20

(A) TR gl gurst o e Y @ o

(B) W I MU Y H W yFH o

AC) W IPER F T F 90 yw W e=_ww ¥ faw afd fear T
(D) =W I ¥ oy dex =1 s@me fear T

What is net true about Chandrayaan-2 Mission?

(A) It was approved by Prime Minister Manmohan Singh

(B) Rover sent in this mission was named Pragyan

(C) In this mission Lunar North Pole was targetted for exploration
(D) Vikram Lander was used in this mission

: maammmw&mmﬁmmm%?

(A) 1ml (B) 2 ml

(C) 0.5 ml D) 1.5ml

What is the volume of each dose of Covishield Vaccine given to adults?
(A) 1 ml (B) 2 ml

(C©) 0.5 ml (D) 1.5 ml

[15] CQRP -
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24. Fm=1 4 @ h-w/aR-9 v 882

() TEEH TE AW AW A a6 TH W 98T

(i) T WA TEE U dErEt @rsiehdl 3

(iil) ST ‘wd=@ i wiiesw’ THE TH ST g et

(A) (), (i) 3R (iti) (B) (i) 3 (if)

©) (@) iR i) (D) *a@ (i)

What is/are correct among the following?

() Galwan river was named after Ghulam Rassul Galwan

() Ghulam Rassul Galwan was a Laddakhi explorer

(7ii) He wrote a book in English named ‘Servants of Sahibs’

(A) (@, (i) and (iii) (B) () and (ii)

(©) () and (iif) (D) Only (i)

25. 9RA 3R e % 9@R 3 mﬁu@w%ﬁu«%ﬁaﬁamﬁ%ma@m

AT TR 5 ¥ 1 & wel fowfaa e s 2

(A) 3%, dferrg

(B) + R, I«

(C) 4R, HERTE

(D) <Y, oy

Governments of India and Portugal have signed a memorandum of understanding
to develop a National Maritime Heritage Complex in India. This will be developed
where?

(A) Chennai, Tamil Nadu
(B) Kannur, Kerala
(C) Palghar, Maharashtra
(D) Lothal, Gujarat

A [16] CQRP- 1
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26.

27.

i 3w fetm wh % Tl ¥ F we ol 22

(A) W T ¥ fou sifuman sw dim 65 a8

(B) &® % i Wik Higd &1 wurh oreay g ¢

(C) o' Tan sfumew uftug 1 oreae g @

(D) =% & Ao w9l w1 gee g e

What is not true in reference to Chief of Defence Staff?

(A) Maximum age limit for this post is 65 years

(B) He is permanent Chairman of Chief of Staff Committee

(C) He is Chairman of Defence Acquisition Council

(D) He is member of Defence Planning Committee

ﬁnaanﬁfaﬁﬂgmixﬁTﬁﬁwq?ﬁ:

() Tiem fagie 1800 | 1805 s gel

(i) Vo faRE w1 g wied 3 foran

(i) TR 1 fasie w1 AqS g ot A TR

(iv) wAsE, F 1 & foa 9

i o ¥ B FA-Y wu T wE?

(A) (), (i) 3 (i) B) (), (i) 3R ()
(€) () 3R () (D) FFa (i)

Read the following statements and choose the correct option :
() Ganjam Revolt occurred during AD 1800 to 1805

(i) Ganjam Revolt was led by Dhananjay

(iii) Revolt of Gumsur was led by Shrikar Bhanja

(iv) Dhananjay was father of Shrikar Bhanja

Which of the above statements is/are true?

(A) '(i), (if) and (iii) (B) (i), (i) and (iv)
(C) (i) and (i) (D) Only (i)

[17]
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28. wrE wfwe sfufem (1861) % wa § P o B R € e 7

() ¥ sfufm & worerey mr s 2 weiv wReg ¥ Fo TRl @ e
™

(i) T Frafor % fo o weedl @) den wu-3-3 6 o AE-I-afiny
12 F G o

({i0) S oft %= fawdl F e e @ Yo T @ T

ST ¥ R WA w4

(A) @), @i) 3R (i)

B) i) 3R (ir)

©) () 3 (i)

D) Fa& (i)

Read the following statements with reference to the Indian Councils Act (1861) and

choose the correct option :

(@)

As a result of this Act, total members of Executive Council of Governor General
became 7

(if) For legislative work, number of additional members could be minimum of

6 and maximum of 12
(iif) No differentiation was made between State and Central subjects
Which of the above statements is/are true?
(A) (i), (i) and (iii)
(B) (ii) and (iii)
(C) (i) and (iii)
(D) Only (i)

A [18] CQRP- 1



29. WA WRWR aifiefm, 1892 % wery § e werl A TgER wE fhed T
() T 20 S, 1892 M AW fw T
(i) 39 24 W@l § ¥ gl wead # wen 5 o
(i) VR A [/ T 7o - afuwr e
S § ¥ SH-T/ FH-Y Fow g /32
(A) @), (i) 3 Gii)
(B) () W (i)
(©) (i) ¥ (i)
(D) waa (i)

Read the following statements with respect to the Indian Councils Act, 1892 and

choose the correct option :
(i) It was implemented on 20th June, 1892
(i) Out of total 24 members, 5 were non-government members
(iii)) Members were given rights to ask supplementary questions
Which of the above statements is/are true?
(A) (i), (i) and (iii)
54 P
(B) (i) and - (i)
(C) (i) and (iii)

(D) Only (ii)

[19] CQRP- -



30. B F W v W freen T R
T3 A w3 i S § w6 i e g
Foq - qiiE e w ¥ AR WA S AT,
sfafem 7 vt § fawifee fon s
(A) F93-] @& F93-1] 29 g ¥
B) FA-1 W@ w911 O e #
Q) F[-1 979 R Wy E-1] a9 #
D) FE-1 3w § g w1 g }
Read the following statements and choose the correct option :
Statement-I  : J. D. Dana prepared a special Geological Time Scale to indicate
the geological history of Indian subcontinent rocks
Statement-1l : As per Geological Time Scale, Indian rocks are subdivided into
Archean, Puranic, Dravidian and Aryan periods
(A) Statement-I and Statement-II both are true
(B) Statement-1 and Statement-II both are false

(C) Statement-I is true but Statement-II is false
(D) Statement-I is false but Statement-II is true

3. @ F W A @O, e o e e s
(A) FefE > @t > e > qrfeE > e
(B) ¥afE > wrifed > wmdifed > wrfid > aefes
(C) ¥afEa > wrafed > e > SR > Bef
(D) e > @i > e > wrifed > g
Choose the correct chronological order of given Epochs, oldest one will come first -
(A) Holocene > Pleistocene > Pliocene > Miocene > Focene
(B) Eocene > Miocene > Pliocene > Pleistocene > Holocene
(C') Eocene > Miocene > Pleistocene > Pliocene > Holocene
(D) Holocene > Pliocene > Pleistocene > Miocene > Eocene
A [20) CQRP- 1




32. Trafefea yiivis fre e 9 5% @ ¥ @ fem #®

e farraa vt —
(@) T TS Samew (i) e
(b) Tenfas o (i) faeve
©) TWWdarse (iii) farefaraaeet
(@) «FR (v) fadr

(@) ®) (©) (@)
(A) (@) (i) (iid) ()
® @) Gy @) 0]
© @) (iv) (i) @@
D) @) (if) (v) (¥
Match the following geological heritage sites with their locations :

Geological Heritage Sites Locations

(a) National Fossil Wood Park (/) Buldhana

(b) Shivalik Park (if) Chittaurgarh
(c) Stromatolite Park (#ii)  Tiruchirappalli
(d) Lonar Lake (iv) Sirmaur

(@) ®) (©) (@)
4 0 (if) (iif) (iv)
B) ) (iif) G @)
© @) (iv) (if) ()
(D) - (i) (i) (iv) ()

4 [21] | | CQRP -
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34.

e woAl & R W W fadey &1 9@ W

FU-1 Qe ot (Plate Tectonics) 1 fagr 1967 ¥ H. H. Hess 7 fag o
FEHI e frdtE fagm oR @ fawe fag W oeefa §

(A) F-1 T HA-11 A1 v §

(B) F¥-1 wd wom-11 A o9 §

(C) -1 ¥ § Wy wYA-11 o9y ?

(D) FUF-]1 WA § W H-11 94

Based on following statements choose the correct option :

Statement-I : Theory of Plate Tectonics was given by H. H. Hess in 1967

Statement-II : Theory of Plate Tectonics is based on Theory of Seafloor Spreading

(A) Statement-I and Statement-II both are true
(B) Statement-I and Statement-II both are false
(C) Statement-I is true but Statement-II is false

(D) Statement-I is false but Statement-II is true

Frefafen fermet #t st o & wed ww & wend
(A) foemet > fewr > drmEt > awr fomrd > i g0
(B) feoR > i g > faamer > WA > sw K
(C) feem > foemd > g 1 > GFmr > a /e
(D) faerdr > feor > a0 RO > Wt > 7 g0

Arrange the following glaciers in decreasing order of their lengths :

- (A) Biafo > Hispar > Sonapani > Bara Shigri > Drang Drung

(B) Hispar > Drang Drung > Biafo > Sonapani > Bara Shigri
(C) Hispar > Biafo > Drang Drung > Sonapani > Bara Shigri
(D) Biafo > Hispar > Bara Shigri > Sonapani > Drang Drung

[22]




35. ﬁﬂﬁmwaﬁaﬁﬁfﬁaﬁﬁzﬁaﬁm%aﬂuﬂmmmﬁm:

36.

\x

A

(A) T U > [SAE > YR > AAET > Y TS
(B) TSUE > HEY YU > Tow > iy YW > Aol
© W>me>wwm>aaﬁw>aiﬂrm
D) me>ma>aaiw>m>aﬁum
Arrange the following States in descending order with respect to number of large

dams constructed there :

(A) Madhya Pradesh > Gujarat > Rajasthan > Telangana > Andhra Pradesh

(B) Gujarat > Madhya Pradesh > Rajasthan > Andhra Pradesh > Telangana

(C) Gujarat > Madhya Pradesh > Rajasthan > Telangana > Andhra Pradesh

(D) Madhya Pradesh > Gujarat > Telangana > Rajasthan > Andhra Pradesh
LT TE A . COP26 SHvdw e g1 & T Shrsw % W A wn W 22
(A) ¥Rd 2030 9 FET SIS § TH faferdd = q% w1 HH HOW

(B) 9WE 2030 G STT Sl Sewdl # 60 Whied g te™ He H HEW

(C) S 2030 A TG R-SaTYH Sl &l B 500 TSR qeh W@ A

(D) SR H & HE Tl

What is not true about commitment made by India at UNFCC COP26 Conference?

(A) By 2030, India will reduce its carbon emission by one billion tons

(B) By 2030, India will meet 60% of its total energy requirement by renewable

energy

(C) By 2030, India will increase its non-fossil energy capacity to 500 gigawatts

(D) None of the above

[23] CQRP- 1



37 mwﬁﬁ@mm%mﬂwmmﬁﬁmﬁ‘zoﬂmm

e T ¥
eI geit-11
(a) gefta IIITEA™ () el |
(b) gfEm @R (i) qﬁaﬁﬁm(mm)
(). gofnret v (i) anfeea T faeT
(@) fasirn sspadt (iv) Gu
(@) () (9] )
(A) @ @) (i) ()
(B) (#1) @) O] (i)

© ()] (iid) (v) @)
(D) (i) @) () (i)
Match the following personalities with their fields in which they have been awarded
Padma Shri—2021 : |
List-I List-11

(a) Sujit Chattopadhyay () Art

(b) Tsultrim Chonjor (ii) Public Affairs
(c) Purnamasi Jani
(d) Bijoya Chakravarty

(#ii) Literature and Education
(iv)  Social Work

(@ ®) (©) (@)
@A 0 (i) (iii) (iv)
B) (i) () (i) (ii)
© @& (@) (iv) @ii)
© @O » 6

[24] o B CQRP- 1



38. ‘mwwmﬁ%’mﬁﬁmwﬁmﬁuﬁ%?

(A) T
(C) faee

(B) uH
D |

‘Fair and Remunerative Price’ is related to which of the following crops?
(A) Sugarcane

(B) Paddy
(C) Oilseeds (D) Wheat
39. % Ted GEHH (WPI) &t o # fafififa e w1 mee (wfew #) fram ¥
(A) 62.43% (B) 64.23%
(C) 63.43% (D) 60.23%
What is the weightage (in percent) of manufactured products in calculation of
Wholesale Price Index (WPI)?
(A) 62.43% ‘ (B) 64.23%
(C) 63.43% (D) 60.23%
40, T g1 HW (IMF) o e w1 o ST e Wi T S i A ShE:
el ¥ 2 |
(A) 2.75%, 2.63%
(B) 2.63%, 2.75%
(C) 2.36%, 2.75%
(D) 2.36%, 2.57%
What are the special drawing rights percentage and vote percentage respectively of
India in International Monetary Fund (IMF)?
(A) 2.75%, 2.63%
(B) 2.63%, 2.75%
©€) 2.36%, 2.75%
(D) 2.36%, 2.57%
A\

[25] CQRP- 1



41.

42,

W%WW‘EH}W'&

aqfefer Gaaor 2020-21 ¥ ogan

g

qelY
(A) W>HWW>W>5”” L

(©) W>W>‘?wm> gRamn

(D) WA T > T > gfeon > 4o

As per Economic Survey 2020-21, arrang

e the following States in decreasing order

of milk production :
(A) Gujarat > Madhya Pradesh > Punjab > Haryana

(B) Madhya Pradesh > Gujarat > Punjab > Haryana
(C) Gujarat > Punjab > Madhya Pradesh > Haryana
(D) Madhya Pradesh > Gujarat > Haryana > Punjab

IRRE ¥ g # 1 wEt W T 7

(A) TG (Virus) ¥ TF S9 ASHEEICGINE T0. S, SO 1 & gem ®

(B) aRRE # Jfaish Tfag SiHM RNA 19T DNA 3nenfid & §ehal ©

(C) DNA amuifta arry stfsive: fima €< &1 §

(p)RNAeﬂarﬁamDNAawrﬁﬂmﬁwﬁ Afyw  TgEfs
e () W €

What is not true about virus?

(A) Virus term was coined by Dutch microbiologist M. W. Beijerinck

(B) Nucleic acid genome of virus can be DNA or RNA-based

(C) DNA-based viruses are usually single-stranded

(D) RNA-based viruses accumulate more genetic changes (mutations) as compared

to DNA-based viruses

[26] CQRP- 1



43. F IO (2015-16) ¥ g=y § FF-g/HA-8 W& 88?2
() =9 R wfwin fram go fear o 86.2 T § FafE 9 FAA 47.3 Howw wEe
N (T R A ) F Wi §
(i) TR PR W p W F R W G dER WH R E
(i) TR e St TE i A 3 STMR W TRAT Jo W W
(A) (), (i) 3R (i)
®) () R G
©) (i) W (i)

D) F@@ (i)

What is/are true in reference to Agriculture Census (2015-16)?

(i) Small and marginal farmers are 86.2% of total farmers whereas they hold only
47.3% of farm land (out of total farm land)

(i) Statewise, based on total number of farmers, Maharashtra is at third position

(iii) Statewise, based on total farmed land area, Rajasthan is at first position

A) (@), @) and (iii)
(B) (i) and (iii)
(C) (i) and (if)

(D) Only ()

" | [27] " CQRP- 1




;4. Frer & @ P ol § o w0 WY FAT SRR M by
T =t ?
() HOR N AT TgH W
(i) TR Y o R siaEe T dfiF T W

(iii) HER F < gal F1 <o q@H 4
(iv) FR ¥ MR N o sqema fry iR FeR sEetEe M S W

(A) (i) 3R (i)
(B) (ii) 3R (iv)
©) () ¥R (i)
D) () R (i)
In which of the following conditions distance between molecules of carbon dioxide
filled in a container may increase?

(1) On increasing the volume of container

(i) On leakage of some carbon dioxide gas from the container

(#ii) On increasing air pressure in the container

(iv) On adding more carbon dioxide gas in container without changing its size
(A) (@) and (i)

(B) (i) and (iv)

(C) (i) and (iii)

(D) (i) and (ii)

A [28] CQRP- 1



45. T8 @y g
T S 4 Kz ot s wertsd 35 W0, &, @ 7w 3 e g o

¥ fre gy it
(C) 12.4 Asve -+ | :1]:3); ?-Zm

A sound wav
© has frequency of 4 kHz and its wavelength is 35 cm, then how much

time will it take to travel a distance of 3 km?
(A) 21.4 sec (B) 2.14 sec

(©) 124 sec (D) 1.24 sec

46. TR F foEeT & wef ¥ a-gyAH-d T @@ A2

() FIRH 57 ¥ e TR B oy A TR ¥ fafed g ¥

(if) ST ¥ A § grede Afes wfoe ¥ w9 § 9Rafda &

(ii) TS & Tqufeafy ¥ yrrede wee eRsiHRe iR 3¥a % w9 A dfEfdd

g ®

(A) (i), (i) 3R (iii)
(B) (i) 3R (iii)
(C) (i) 3R (iii)
(D) e (iii)

Which of the following statements is/are true in reference to break-down of glucose?

. vA

plasm, glucose breaks down into pyruvate which has four carbon

(i) In cyto

molecules
pyruvate gets converted to lactic acid

(i) Due to lack of oxygen, ‘
d to carbon dioxide and ethanol

(iii) In absence of oxygen, pyruvate gets converte
(A) (i), (if) and (iii)
(B) (i) and (i)
Q) (i) and (i)
(D) Only (iii) '
" [@9] CQRP- 1




47.

48.

49.

LRI aﬂ?@i@ﬁrﬁmaﬁa;wﬁﬁﬁﬂ—m/ﬂ?—ﬁﬂﬁ%/%?

() o il iR Fhm A we # e §

(i) AR F 18 qen wisfift § 15 o &

(iii) @izt e greffw Remere % foae wfae @

(A) (), (i) 3R (iii) (B) () ¥R (iii)

© () ¥R @) (D) Fa9 (i)

What is/are correct in reference to Udayagiri and Khandagiri caves?

() It has both natural and artificial caves
(@) Udayagiri has 18 and Khandagiri has 15 caves
(#i) Khandagiri caves are famous for Hathigumpha inscription

(A) (i), (ii) and (iii) (B) (i) and (iii)

(©) () and (if) ~ - (D) Only (i)
‘Tagfem’ & wfta o 2

(A) T (B) wmEmE

© =gy (D) g

Who is the author of ‘Visuddhimagga’?

(A) Nagarjuna (B) Padmasambhav
(C) Vasubandhu (D) Buddhaghosa

"THAR =R AR QR ¥ Wy N e we 32

(A) Wgwﬂmwﬁaﬁﬁmﬁ%ﬂ@wéﬁmmm%
(B) TH WHF W ‘TR a9’ % 9K Whigh sifra ot

(C) 31 fegmr, 2oz1aaszsa\1ﬁa%qmahaww=lmsnﬁm%

(D) T TR FI 26 T, 1952 Y T fran T

What is true about gallantry award ‘Param Vir Chakra’?

(A) This award can be given to an individual only once in his/her lifetime

(B) On its medal, four replicas of ‘Indra Vajra’ are embossed

(C) Till 31st December, 2021, 25 people have been awarded with Param Vir Chakra
(D) This award was instituted on 26th January, 1952

[30] CQRP- 1



50. 7 FEw Fenel w1 3R gwhvg v @ g HINC

9T wen —
(@ e (i) wAew
() i (if) T
(©) wgd (iti) TSTEIH
(@ =R (iv) TeE

(a) ) (© (d)

. (A) @) (i) (ii) (v)
(B) (i) (v . (@) (@)
« (©) @ (i) » (i) (v)
(D) (i) (v) @) (iii)

Match the following embroidery arts with their related States :

Embroidery Arts States
(@) Phulkari (i) Karnataka
(b) Dharaniya (i) Punjab
(¢) Kasuti ' (iii) Rajasthan
(d) Karchobi (iv) Gujarat

(a) (b) (©) @)
(A) ) (if) (i) (iv)
B) @) (iv) (if) (i)
(©) (i) (iii) (i) (iv)
(D) (i) (iv) () (iif)

A [31]
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A e Ry S o Geifud 8 2

51.
(A) HuR (B) &M
(©) yfsen (D) T
Which tribe is related to Lal Bangla?
(A) Kamar (B) Baiga
(C) Bhunjia (D) Pando
52. =M & w1 arerr frw R F e &2
(A) wTge (B) =ifean
©) @R (D) SeTEgY
Shrine of Chang Devi is situated in which district?
(A) Surguja | (B) Koriya
(C) Surajpur (D) Balrampur
53. WW%WW%&W%MWWWWWWM
g2
(A) &eft, d= (B) i it
(C) fava enfeart feag (D) SW |
On which of the following days the State Government declared public holiday for
the preservation of rural culture?
(A) Hareli, Teej (B) Karma Jayanti
(C) Vishwa Adivasi Diwas (D) All of the above
54. YOG ¥ Yecl SR ‘UK SNfcard T weeqa’ w1 SRS S fRar T
(A) 27 | 29 3T, 2019 (B) 29 ¥ 30 @R, 2019
(C) 27 & 29 fem=R, 2019 (D) 25 | 28 R, 2020
When for the first time ‘Rashtriya Adiwasi Nritya Mahotsava’ was organized in
Chhattisgarh?
(A) 27 to 29 October, 2019 (B) 29 to 30 November, 2019
(C) 27 to 29 December, 2019 (D) 25 to 28 October, 2020
A ,
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55, T TGS ¥ ‘e wogE’ F) feg fae S I E 2
(A) HTB-HA FATHR
B) fufs fox Fomn
(C) swiwe J Tl & ween 6
(D) AHTE FEAHR
For which reason ‘Chendru Mandavi' of village Garhbengal is known?
(A) Artist of Wood-craft
(B) Artist of Mural Art
(C) The First hero of Hollywood from Bastar region
(D) Aurtist of folk dance
56. fret woE @ g e faehed g
(@) mwﬁﬁmwummmmmﬁ%.
(id) Hq e TE 1 aifaE 9 e ol
(A) o TS €
(B) I wd €
(C) Faa (i) T3 ¥
(D) F (i) I 4
Read the following sentences and choose the correct option :
() Rajmata Fulwa Devi Kange is related to famous tribal personality Kangla Manjhi.
(i) The real name of Sant Gahira Guru was Maheshwar.
(A) Both are correct
(B) Both are incorrect
(C) Only (i) is correct
(D) Only (if) is correct
A [(33] CQRP- 1



L TR &

57. Frefafen = giftm s .

e g
(@) smg -0 W\
(b) == - (i) "R
() o - (iii) g@Ew
(d) TR - (iv) ¥R
REREETS I Fifeu—

@ ®» © @

(A) () @) (i) ()
B) & ) @) (i)
© G @ G (i)
®) @) @ @ @
Properly match the following

Festival Month
(@) Aamus ~ (?) Chait
(b) Sarhul - (i) Kwaar
(¢) Navakhai = (#if) Sawan
(d) Dussehra - (v) Bhadon

Choose the right option—

(@ ()
(A)  (v) (i)
B) & G
© Gy @)
D) Gii) (v

© @
@ )
(iv) (i)
(v) (i)

@ @)

e A e N
TR ORI ¢ e



| Frotffan :
58 SR 3% e Prare 4w (fen) ¥ srEr gafew A

STt
(a) TETE! wran -
(&) Mifsmm .
(c) fogam 2
(@) SeEmEm -
TE fawey =1 w9 Fifm—

@ @ (©
A O @) ()
B @ @O @)
© @ @ O
YD @ @) O

e frara @ (Re)
() SSrETETER- SR
(i) S

(iif) farsg

(iv) RO

(d)
(id)
(v)
(v)
(i)

Match the following Tribes according to their Main Area of Residence (District) :

Tribes
(a) Hill Korwa
() Bhunjia
(¢) Binjhwar
(d) Abujhmaria

Choose the right option—

@ &

(A) () @)
(B) @) @)
© Gy (i)
D) (v ()

(c)
(iv)
(i)
)
()

Main Area of Residence (District)
(/) Balodabazar-Bhatapara

(ii) Jashpur

(iii) Gariyaband

(iv) Narayanpur

(d)
(i)
(iv)
(v)
(if)

[35] CQRP -
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L N R ™ NWUN s a2 MWAIERG <.~ WM =2 T WO =T

59. Fret wrei & AW I UeEwl @ gAfed HIC

ITEE Tsafn
(@ ¥ - () @A
(b) WheEdd - (i) ¥RMGHE W
(© wim= - (iif) wUg W
(d) T - (iv) To=e M oA
& fawey =1 999 Fifsu—

@ ®» © @

A O @ G
B @ G GG 4
© @™ @ G Gy
® @ @ @)

Match correctly the names of the following Rulers with their Dynasties :

(@)
(b)
(©)
@

Ruler
Kanhardeva

Durgraj

Skandvarman

Harshgupta

Choose the right option—

(A)
(B)
©
(D)

(@
®
()
(iv)
(#)

(®)
)
(i)
(i)
(iii)

©
()
(i)
(if)
()

Dynasty
() Nal Vansh
(i) Shérabhpuriya Vansh
(#ii) Pandu Vansh
(iv) Chhindak Nag Vansh

(@)
(iii)
(i)
(iii)
(¥

[36] | CQRP -



60.

L

61.

ST R & PIIHHATER RY :
() e TR

(i) SIS (AeaE) fEamt

(iii) foga femem -

(iv) iRt T

& forerea qhm—

(A) (), (D), (i), (id)

(B) @), (i), (v), ()

© i), @, (), ()
D) @), (), @), (v)

Arrange in chronological order the names of Maratha Subedars :

(i) Keshav Govind

(i) Yadurao (Yadavrao) Divakar
(iii) Vithal Dinkar

(iv)  Bhika Gopal

Choose the right option—

(A) (@), @), (i), (i)

B) (i), (i), (), ()

(©) (i), (i), (v), (i)

D) @), (@), D), (W)

1933 F it 1 A X ¥ A T B TR THFAR HiAS | WEE w1 AH
T

(A) feorg fad B) 3. T @ie

(C) T . Al (D) TE. . F

Name of the Principal of Rajkumar College who invited Gandhiji to deliver a speech
in 1933 is :

(A) Smith Piers

(B) T. A. Scott -
(C) H. M. Larri

(D) L. S. Carry

[37] ’ CQRP- 1



SRR

il Tl

L = MU Y RN R W R TR

. g ¥ frefafen TaER-w @) I gEes! @ gaf BT

qUTE-UT RS IEE
(a) Ffed - () IEWER
(b) A - (i) IgET 9ER
() womw - (i) SRS g9l
(d) Tegsw - (iv) Ve Y9 T4l
Tt fowew g -

@ @& © @
(A) @) @ @) (v
B) ™ @ G )
© ™ @ @ @)
D) @ @ GG

Match correctly the following Newspapers of Chhattisgarh with their Editors :

Newspaper Editor
(a) Suryoday = () Uday Prasad
(b) Alok - (i) Yadunandan Prasad
(c) Prakash - (¢if) Kanhaiyalal Verma

(d) Haihaivansh (v) Keshav Prasad Verma

Choose the right option :

@ G (© @
A @y O @ (v
B) v @) @) )
©  Gvy @) G (id)
@) Gy vy Gi) (?)

[38]
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%T W
Sl SO
(b) RETEY St - (i) TIR
() wwmuide W@ - (i) A
W fawey -

@ b © @
Ay @) @ G (v)
By @ G @) i)
© @ G @) @)
@ ™ @ @ )
Match correctly the leaders who were arrested during the Quit India Movement on
Oth August, 1942 with their places :

Leader Place
(a) Yakub Ali “ () Durg
(b) Harnarayan Bajpai - (i) Raipur

(¢) Laxmansingh Deshmukh

(7ii) Bemetara
(d) V.Y. Tamaskar - (iv) Bilaspur
Choose the right option—

@@ » 0 @
(A) @) O G (v)
®B) & @ Gvy  Gi)
© Gy vy @ @)
@ Gy G O i)

A [39) CQRP- 1



64.

6S.

RIS ———

S —— R LA

s Yofits 3 afEd @ 98 oA fHEE 82

(A) 5. sf==g (B) f=E T

(C) 5. fawm (D) fi. T

arrangement of land, the existence of

“Due to geographical situation, social system, o
» Whose statement is this?

Zamindars in Chhattisgarh remained natural and inevitable.
(A) Mr. Jenkins (B) Richard Temple

(C) Mr. Chishom (D) Mr. Agnew

fodta wfera sram it § e ® g $@ gC T THEE H Fe R
4 ?

(A) 12 ®&Ed, 1932 (B) 16 W4, 1932

(C) 19 34, 1932 (D) 13 [, 1932

When was Dr. Radhabai arrested while leading procession in the Second Civil

Disobedience Movement?

(A) 12 February, 1932 (B) 16 March, 1932

(C) 19 April, 1932 (D) 13 June, 1932

freffiad § @ SN ToHieTE & T frEeE w5 T QS T8 Lo
(A) TS vl

(B) UgHEA YA &R
(C) I AR fe

(D) werd waE fag

Who among the following is mot associated with the establishment of National
Vidyalaya of Rajnandgaon?

(A) Rajulal Sharma

(B) Padumlal Punnalal Bakhshi

(C) Thakur Pyarelal Singh

(D) Baldev Prasad Mishra

[40] CQRP -
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&

(a)
(hy T

gofem Fif—
@
A) @ D)
B) ) Gi)
© G i)
D) (i) ()

The GDP of Chhattisgarh estimated 1i

Chhattisgarh i1s :
Area
(a) Agriculture
(b) Service
(c¢) Industry
Match correctly—
(@ ()
(A) () ()
(B) (1) (i)
(Cy (i) (i)
(D) (i) (i)

Ife =

S 0.75%

(i) 4.61%
(iii) -5.28% .

(c)
(iif)
(i)
(1)
()

Growth Rate
@) 0.75%
(i) 4.61%
(iii) —5.28%

(c)
(iii)
(if)
()

67. BRETE AE T, 20202021 F s W wwA S I AL ¥ -

n the Economic Survey, 2020-2021 of

[41]
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68. BWETE ¥ vafen ‘s T & Wy o fow we o IgER W€ e 9
() T=F ITW diERe # wed Q@ W ¥
(@) T8 T R e e st §
(iid) %m@n%wmﬁﬁﬁam%
SWH ¥  SH-w wu7 we &2
A) O R Gi)
B) (@) 3R i)
©) (&) 3R Gii)
(D) &, (i) 3R (i)
Read the following statements related to ‘Banas river’ flowing in Chhattisgarh and
choose the correct option :
(#) It originates from mountains of Manjhatoli
(i) Kotari waterfall is situated on this river
(iii) It joins Son river near village Dembha
Which of the above statements are true?
(A) (i) and (if)
(B) (ii) and (iii)
(C) (i) and (iii)

(D) (i), (i) and (iii)

[42] CQRP- 1



69. T F Ak T wAfm R -

(@) TR = Yo

(b) =S NFHUE FeH

(¢ Twum wifdn bfe

(d) S IEUA F

@ @
NN G
SB @ ®)

j(C) @ @

yD) @ O

(9]
(iii)

@) .

()
(iii)

(@)

EIS R

&

() FET

(i) TR

(iv) @i

@)
()
(i)
(iiv)
()

Match correctly the famous places in the State :

(@) Tomato Capital
(b) Rice Research Institute
(¢) Kishan Shopping Mall

(d) Kosa Research Center

@ ®
@ O G
B) @) (W)
© @O @)
D) @ O

©

(iii)

0]
(v)
(iii)

@
(v)
(iii)
(iii)
(v)

(i) Rajnandgaon
(ii) Ludeng
(iii) Bastar

(iv) Labhandi

[43] CQRP -



70. -q-aan(A):awsf2017-18ﬁwqfsagﬂm(—m-%%)a:aﬁ"g'
W(R):zow-lsﬁ*émq@ﬁrmﬁ’{ﬂ@ ;ﬂmm%
(A) ﬁW(A)@W(R)W%IW(A)W(R) A
(B) a#W(A)@m(R)m%mm(A)m(R)ﬁW

(C) = (A) 3R FRU (R) A o T €
(D) ST ® | ®I§ Tl
Statement (A) : Very little agricultural growth (-1

year 2017-18.
Cause (R)  : Many Districts were facing the problem of drought in 2017-18.

(A) Statement (A) and Cause (R) both are true. Statement (A) explains the
Cause (R)

(B) Statement (A) and Cause (R) both are true. Statement (A) does not explain the
Cause (R)

(C) Statement (A) and Cause (R) both are not true

(D) None of the above

0.90%) was recorded in the

71. fauom a4, 2019-20 & wHw: form fo@ A weifus o @@ &9 97 @@S = ©/ (FH
faurt & SAgER) ?
(A) SISHR-90TT, darel
¥B) faemET, et
(C) SASPIR-=19], TRIEUGR
~(D) HH!, TG
In which district respectively the maximum and minimum paddy was procured in the
marketing year 2019-2020 (according to Agriculture Department)?
(A) Janjgir—-Champa, Dantewada
(B) Bilaspur, Dantewada
(C) Janjgir—Champa, Narayanpur
(D) Dhamtari, Narayanpur |
A - [44] CQRP- 1




(A) & frgdt stferhivra: mﬁ@ﬁ@mﬁwawmmﬁaﬁmmﬁé
W UE St
/®) q“"mmﬁq{ﬁﬁmm@?ﬁ%
(€) = ot 4 AR A wen arfers et @
/(D) =W fadt ¥ W@ = wen aifuw @1 ®

Which of the following statements is not true about Matasi soil?

(A) This soil is usually found at altitude higher than that of Bhata soil and lower
than that of Kanhar soil

(B) This soil is less fertile than Kanhar soil

(C) Iron content is high in this soil

(D) Sand content is high in this soil s

\

.

73. Frafafad Ul @ s Ufey ok & SW T :
Ne;) SHTE T § AN 37.46 TG FF TRER T
(id) mwﬁGSDPﬁmeﬂaam%n
Jiii)ﬁm@mﬁgﬁﬁm%@%amar@w%l

FH-qUAA-¥ FuF GE 2 ?
(A) e (i) T (i) (B) *aa (ii) W (iii)
(C) wad (i) .qa‘ (iid) (D) %ad (i)

_ Read the following statements carefully and choose the correct answer :
(i) There are about 37.46 lakh farming families in the Chhattisgarh State.
(i) Agriculture sector has the highest contribution in GSDP of the Chhattisgarh
State. |
(iii) Agriculture is kept in primary sector in the Chhattisgarh State.
Which of the statements is/are true?
(A) Only (i) and (if) , (B) Only (i) and (iii)

~ (C) Only () and (iii) (D) Only (i)
A ‘ [45] CQRP- 1




&2
74, ﬁmﬁf@aﬁﬁmwﬁ?@m@% 3 o T S R

() e dn # e g ¥ AR A

(i) e S TEe T g (9oH) &3

(iii) fiva wfed g 87 &1 [T 0

(A) (), (i) 3 (i)

(B) () 3 (if)

(©) F (1)

(D) SWF ¥ & %

Which of the following statements is/are true?

(/)  After weakening of power of Satavahana dynasty, Vakataka dynasty established its
kingdom

(if) First king of Vakataka dynasty was Pravar Sen (First)

(iif) Vindhya Shakti was son of Pravar Sen

Choose the correct option :

(A) (i), (i) and (iii)

(B) (7) and (i)

(C) Only (9
(D) None of the above

HETE F 9 F fFE e A v 2021 § dviifes d6as (Shem. 3 wem R

75.
TR ?
(A) SR S (B) gt
(C) SIUEa (D) T A
Which variety of paddy of Chhattisgarh has been granted the Geographical Index Tag
(G.I. Tag)?
(A) Badshah Bhog (B) Dubraj
© Jeeraphool (D) Tarun Bhog
A [46] CQRP- 1



6. memwmmmﬁmm%:

(@) faurt ame #
(b) fa<ita amqal o
(c) it mal o

L (d) Frfert ®t Rreeradl & gdy #

9 Ry T Fe ¥ A WL IW H G997 HIfNC—
(A) (a) 3R (b)
(B) (&) 3 ()

L (© @) (c) IR (@)

D) (a), (b) ¥R (c)

The State Government controls over urban local bodies :

(a) in legislative matters

(b) in financial matters

(¢) in personnel matters

(d) in respect of citizens’ grievances

Select the correct answer from the codes given below—
(A) (a) and (b)

(B) (b) and (c)

(C) (b), (¢) and (d)

(D) (a), (b) and (c)

[47]

CQRP -

1



77. ﬁ%awmm%.waﬁm<A)a¢hwﬁm(R)WW§:
W(A).Wﬁmmﬁﬁaﬁmawmaﬁﬂ%mﬁ%

fopg oy &)
FUT (R) : a2 7 = 779 WonEs ofeid Sifeel WHfd 1 e §
SUHF [ S ¥ weol F froifafas § @ #H-w @ 22
(A) = HUF (A) 71 FWO (R) e & a0 Fo (A) F1 G SR FRA (R) B
(B) =T %97 (A) o1 ®WW (R) et § wg FUA (A) F GE TEF FRO (R)

Tl '
(C) F¥7 (A) W8t @ Wg RO (R) Tord &

(D) =7 (A) Tod & Wg HRT (R) 9 &
In the following questions, there are two statements. One is labelled as Assertion (A)

and other is labelled as Reason R) ;
Assertion (A) : Municipal corporations are formed in big cities having a definite

area and population.

Reason (R) Urban administrations of big cities are very complex in nature.
In the context of the above two statements which of the following is correct?

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct explanation

of Assertion (A)
Both Assertion (A) and Reason (R) are true but Reason (R) is not correct

(B)
explanation of Assertion (A)
(C) Assertion (A) is true but Reason (R) is false
(D) Assertion (A) is false but Reason (R) is true
(48] CQRP- 1




8. WU F 745% wgings " |
' 1992 ¥ et ¥ ¥ fepwer yrauT fEn e &2
(l)\/mw

(i) o wiufet
(i) TG ST
1 (iv) T s gy

T g w0 i T TE IW gfu—
®) () R ()
B) (@), (i), i) 3R (iv)
© O, i) s @)

1 D) (i), (i) 3R @iv)
Which of the following has been provided in the 74th Amendment Act, 1992 of the
Constitution?
(i) Municipal Committees
(ii) Ward Committees
(iii) Metropolitan Planning Committee
(iv) District Planning Committee
Select the correct answer from the codes given below—
(A) (i) and (iv)
B) (i), (ii), (iif) and (iv)
(C) (i), (i) and (V)
(D) (ii), (i) and (iv)

e

R 49 ‘
e [49] CQRP- 1



79, mmmﬁﬁwmﬁm :

(@) T4 § faufas 1 33

(&) o9 g1 ¥ seam qon wneay

(©) & % du9-aw
(@) ‘F¥ fades’ )

@ ® © @
CYRNG ) i) ()
B) () (iF) ) i)
©) (i) @ @
O @ a (iv)

() T 178
(i) FTBT 199
(iil) STDT 168

(iv) AT 195

Match the articles related to State Legislature -

(a) Constitution of legislature i States

(b) The Speaker and Deputy Speaker

of the Legislative Assembly

(¢) Salarieg and allowances of memberg

(@) Definition of ‘Money B’

@ &) (o (@)
@A o W) (jy)
B Gy @ i
© Gy ) (i)
D) () Giy () (iv)

\[so,\\

() Article 178

(i) Article 199

(iii) Article 168

(v) Article 195

CQRP -

1
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80' mﬁﬁﬁq*mm-ﬂgmm %/%7

A

(q) oA WifER! i )

(b) TS TS e .

(©) darad R gEw’ ¥ gy 3
¥ ®E 98

(@) T fawE T st e B
FrtFdl ¥ foau worafe e

%< .

A) (@, © I @

B) % (D)

©) (a), (b) 3 (9)

D) (@) 3R (D)

Which o

(a) Rationalisation of Panchayat Statistics

(b) Panchayat Raj Training

(c) Working Group on Panchayats and

Co-operative

inistrative Arrangement for

(d Adm
and Poverty

Rural Development
Alleviation Programmes

Code :

A) (a), (© and (d)
(B) Only (b)

(C) (a), (b) and ()

ot AR, T
u . PR
. g fad

St &, °l. T
ANV

f the following pairs is/are correctly matched?

V. R. Rao
A. S. Trivedi
S. D. Mishra

G. K. V. Rao

D @md®
, [51]
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L 4 BT R L . O 1o b

FUT (A) : foen = . . - .

HROT (R) : faen =iy & oG =R @ TR aﬁT:ﬂI T bkl
.mwﬁ%%mwﬂabﬁmm - AR
Bt § 1

ST A wawed & wod # Prefefea § & FA-G T R

(A) I w9 (A) 7o HEW (R) W@ § A B (A) FFE TR F (R 3

(B) < For (A) o Fww (R) W E A FHA (A) F O WL Fwwy
TeT 7

(€) +97 (A) W&t ® =g wRW (R) 7o &

(D) =97 (A) o } g FRO (R) e ¥

In the following questions, there are two statements. One is labelled as Assertion (A)
and other is labelled as Reason (R) :
Assertion (A) : The District Judge is the highest judicial authority in the district.

Reason (R) : The District Judge has both judicial and administrative powers.

He has also Supervisory powers over all the subordinate courts in
the district,

explanation of Assertion (A)
(C) Assertion (A) is true byt Reason (R) is false

(D) Assertion (A) is false byt Reason (R) is trye

R N

CQRP -




83.

The main force forming the
Government is :

(A) Planning Commission
(C) Chief Minister

principles of the procedure for the work of State

(B) Minister
(D) Secretariat

ii?ﬁgﬁ:;ﬁﬁmm) 3R gE Y HRO (R) Fel T T :

: S TSI 1 & 7T wee w1 wHten T8 H FwHa ¢

FN(R) : MR W § wdf & i 3 forg fofe Sobr T ¥

SR A T F e § Profafen 3 @ s W@ 22

(A) T S (A) T R (R) W § T B (A) B GE LT B (R) ¥

(B) Tl HUT (A) T AU (R) Wt § T HU (A) I T WLH B (R)

T/ ® |

(C) HUT (A) Wl § Wg &R (R) 7Ted &

(D) F¥F (A) T § W FRY (R) T @

In the following questions, there are two statements. One is labelled as Assertion (A)

and other is labelled as Reason (R) :

Assertion (A) : The courts are barred from enquiring into the advice rendered by
the ministers to the Governor.

. There is no provision in the Indian Constitution for the system of

Reason (R)
legal responsibility of the ministers in the States.

In the context of the above two statements which of the following is correct?
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is correct explanation

of Assertion (A)

(B) Both Assertion '
explanation of Assertion (A) -
(C) Assertion (A) is true but Reason (R) is false

(D) Assertion (A) is false but Reason (R) is true

(A) and Reason (R) are true but Reason (R) is not correct

e — 53] CQRP- 1




i M
g
F faafa #7
84. T W wered = sfrsiy wm A R .
(A) = ® I
(©) oo (D) T |
Chhuri hills is distributed?
In which district, the major portion of the )
(A) Korba (B) Mungell
irdham
(C) Bilaspur (D) Kabirdha
85. diwd Uty oRem wd wee wda, 2019-21 ¥ oIER TG T WEA T o
(TFR) =1 ¥ @ fpait 2
(A) 1.8
B) 20
©) 2.2
(D) 24
What is total fertility rate (TFR) in Chhattisgarh as per Fifth National Family Health
Survey, 2019-21? '
(A) 1.8
(B) 20
{(C) 2.2
(D) 24
86. WWWﬁW%RWWWWW%,@WG\?
afdi/mel & @R §?
@) T (B)
= (D) =mroy
Which of the following archaeolopical s ‘
i o gical sites g located on the bank of river Mahanad:
and has temples/monuments of BUddhi - Hinduism and Juir:
’ n ?
(A) Shivrinarayan B), R amism?
ajim
(C) Sirpur
B | s
A [54) g i
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(A) é'mmumgj
(C) FH

7. TR TN I Ty gt 35

(B) SIS T

(D) #Rw W

Where 1s origin place of Malger river?

(A) Bailadila hilg

(C) Keshkal valley

(@) & dive

(b) STER®

() 3. & wafh

(d) T @
@ b

A @) i)

B) Gv)  Gi)

<€ @ @)

@ O @

The following cement factories are situated in which Tahsil of State? Correctly

match :

(@) Shree Cement
(b) Ultratech

(¢) J. K. Laxmi

(d) Century Cement

@ B
(A) (iv) (i)
B) (iv) (i)
© @ @
® @ @

(©)
(i)
@)
()
(iii)

(i)
()
(iv)
(iif)

(@)
()
(id)
(iii)
()

(B) Abujhmar hills
(D) Jhiram valley

8. ﬁﬂmmwmtmmﬁm%?gﬁmmt

() sfgema .
(i) fae=n
(iii) Tawm
(iv) SERETER

(i) Ahiwara
(i) Tilda

(iii) Simga

(iv) Balodabazar

@)
(@)
(1)
(iif)
()

——

[55]
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@i HUSR
(@) W
(b) TA-TE
(c) Hm
(d) T

@ & ©
A) Gv) @) @)
® i) @ 0
© Gy @y @)
o @ @ @

Match the mineral deposits and areas found in Chhattisgarh :

Mineral Deposit

(a) Diamond

(b) Limestone

(c) Manganese

ax
i T
i) e
(iii) AT
(iv) T
@)
)
(i)
0
(i)

Area

() Latapara

(ii) Jangda

(iii) Jhipan

(d) Gamet (iv) Parsoli
@ & @© @
A @) @) @ )
S ®) Gy ) ) (@)
© @ @ ) G
@ @ @ ) (i)
18]
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90. @—Iﬁﬁnmﬁﬁwmﬁﬁqmmmﬂw |

e |
o -1
(&)

. (ST et )
@ (i) = =
(b) =™ i ey
(c) Si® S
@ = (iv) AR

(@) b) (©) @
VI I CONN
B) vy @) (i) (i)
©) G G G ()
® & @ @ G

Match the following river given in List-I1 with the place of origin given in List-II :

List-I List-IT

(River) (Place of Origin)
(@) Mand (i) Ludeng hills
(b) Banas : (i) Sonbera plateau
(¢) Jonk (iii) Devgarh hills

(d Kelo (iv) Mainpat

@ O © )
NI O] (iv) (t.t)
®) v i) @) (i)

© @) (i) @ @
S e g sy o)



91. fmfafEs ‘ssen’ =1 3w FARY :

e vw ¥ g, 3IfE =om m.
W W, R T @ R

(A) w&m (B) U
(C) re/Sfaren (D) ¥
Answer the following ‘Janaula’ :

e Y % ga, Sfe W etww

T = T, WA vy R

(A) Kite (B) Air

(C) Soul/Spirit (D) Sun

92. vXgd ‘g’ fFw 3 F sren wmr ¥ 2

T IR fag -
(A) @ &rif @ g (B) ¥wat # T A
(C) sifm favig (D) WEwd g

In what sense is the presented ‘Hana’ spoken?

Write the correct answer :
" frar wer faer!
(A) To ask three people

(C) Final decision (D) To agree

(B) To defer judgement

A [58]
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A iaf T

Rt e i

(B) 3nvm = wew = faer

(D) aiwr g
What does the presenteq ‘Hana’ signify?

Write the correct answer -
"B B F g o,
S T wR/Y

(A) To be powerless (B) a hapless not getting any help

(C) To be careless (D) To be blind

F B ThaT ¥ 2 T TS’ WY ok wed s = fafew =
" gfemn, & W og T F wEn
(A) ftas (B) ==
©) siz (D) SWw & ¥ = e

What may be? Understand this ‘Janaula’ and mark the correct answer :

‘o e, & g W F T

(A) C ut (B) Wood-apple
ocon

(D) None of the above
©) Egg




95. T wreain fvg meon | sgua #?

‘g ggmul wEEe St S
I TG S w9
A Qe & WIS TH F
fom <Y & st & ==
T YPH F IR IHE
TR Fwmd s & ..

(A) waen T

(B) e wg

©) ¥ FH

(D) T T

From which story is the following poem quoted?

"o wEauTh A S e
TR S ST L T W
K SR & WINE UH &
fo1 S & ol ¥ 9=
T M & IR THE
fam faga & @t s & "
(A) Kanvala Rani
(B) Ahiman Kaina
(C) Phool Kunwar
(D) Phool Baman

A [60] CQRP- 1



96. =1 =T fraat 2

"R TR TEE 3N ¥,
g 39 HT FH |
A F gwa e,
W o fagsn agn'”’

(A) ¥R JuE

(B) TI< Wi

(C) e e

(D) . TIgene S

Whose composition is the following?

‘IRl T e WA I R,
TS IAT TN I |
F o g F dha fhae,
& & fagsn ag”
(A) Rameshwar Vaishnav
(B) Mukund Kaushal
(C) Sushil Bhatt

(D) Dr. Dadulal Joshi

[61] CQRP- 1
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97. 'TEr garm dered Ao 3 e 3 T W@ AR
(1) Wﬁwﬁgsamw%ﬁé,zomﬁaﬁﬂ?
(i) mm%m%mmmmaﬂmﬂﬁﬁﬁﬂwaumm

9 HHF B &
Gif) T\ A ¥ aed gERT 8 TP
IYFT fFar 1wl @

4 = T ?g T (CAMPA) e &

(A) (1), (i7) 3R (iii)

(B) (1) ¥R (7)

(C) () ¥R (iii)

(D) = (iii)

What is/are true about ‘Mukhyamantri Vriksharopan Protsahan Yojana’?

(/) This scheme was started on st July, 2021

(ify Principal Chief Conservator of Forests is the Chairman of State Level Monitoring
Committee formed for the implementation of this scheme

(iif) Under this scheme, for installation of High-tech Nursery for tree plantation,
CAMPA fund can be utilized

(A) (i), (ii) and (iii)

(B) (i) and (i1)

(C) (i) and (iii)

(D) Only (iii)

[62]



98, T STH TR, 2021 % Wy ¥ frerfafes w gafaa ST
(@) TSR W () g deh W
(i) R AEd

(iif) R YHR Yo

\/(b) @Waﬁam

) T e (iv) . FEaT @

@ ® © @
O R
® @ G @
© @@ o
©  © @ @)

Match the following in reference to Rajya Alankaran Purashkar, 2021 :

(@) Gundadhur Samman () Kumari Rohani Sahu

(b) Dr. Khubchand Baghel Samman (i) Mukesh Chaudhury

(c) Saheed Veer Narayan Singh Award  (iii) Janki Prasad Pulast

(d) Minimata Award (iv) Dr. Kalpana Deshmukh

@ ® © @
@ 6O @ @ W
® O @ @) i)
© @ Gy G O
® 6 G @) @

q

[63]
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99. Trafefan & & sh-d qm wh gifea o &7

TYE e aifirr Tt
() TR sfEm - e
() o i - A
(iii) TR g o - feen wd el fawr fasm
(iv) TR =R A Al R o
(v) wme R G — gy faum

J@A 6 @ @) ()

® @ v O 6
(©€) @) @i (@(Gvy O
ND) @) @) O

Which of the following pairs is not matched correctly?

Important Scheme Related Department
(/) Sanskar Abhiyan —  Health Department
(i) Mukhyamantri Swavalamban - Panchayat and Rural Development
Yojana Department
(iiiy Mukhyamantri Suposhan Abhiyan - Women and Child Development
Department
(iv) Tirath Barat Yojana —  Urban Administration Department
(v) Samarthya Vikas Yojana - Agriculture Department

A o @ @ W)
B @m» O 6O 6@
© @ @ @ W

M @) G O G AR
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100. TITE ST g, 202021 % sy et el ) FRenall 3 T @ F

Wﬁﬁﬂ?ﬁmﬁm:

(&) W>W>W>m

(B) Wﬁhﬂh>aﬁm>w> ——
. © W>Wﬁiﬁ1ﬁa>m
(D) TSI > ey »

> TETET
TREMR > HERE
As per Chhattisgarh Economic Survey, 2020-21, arrange the following districts in

decreasing order of Literacy Ratio of female :

(A) Korba > Rajnandgaon > Mahasamund > Narayanpur
(B) Rajnandgaon > Korba > Mahasamund > Narayanpur
(C) Korba > Rajnandgaon > Narayanpur > Mahasamund

(D) Rajnandgaon > Korba > Narayanpur > Mahasamund

: [65] CQRP- 1



